Admission test on mathematics for MBA program.
1.  Simplify the following expression
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2.  Simplify the following expression
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      3.     Solve the following equation involving real variables.
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Ответы.Answers:



A)     {-3, -9}            B)   {-9,3}             C) {-3, 9}
4.
John wishes to mix some tea worth $2.80 per pound with another type of tea worth $4.5


per pound  in order to make a 10 pound mixture worth $ 3.48 per pound . How many 
pounds of the $2.80 tea should he use? 



A)     4          B)    5            C) 6

5. 
A selling price of $72 results in a 20% discount off the list price, what selling price 
would result in a 30% discount off the list price ?







A)    63          B)    81        C) 54

     6. Five printing presses can print a newspaper in 6 hours. If only 3 of them are operating,

how long will it take them to do the same job? 




A)     12        B)    9            C) 10

7. Find the sum of the first 30 terms of an arithmetic series in which the first term is equal to

2 and the seventh term is 20.





:



A)       1420          B1365            C)  1270
8.  Solve the following system.
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Answers:



A)      {(7,6),(6,7)}    B)      {(-6,7),(7,-6)}    C){(-6,-7),(6,7)}

9. Simplify:
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10. It is known that the population of a country in 1920 was 10000000 people. If the population doubles every 20 years, what will the population be in2000?

А) 80000 000


B) 160000000


C) 320000000 
D) 40000 000

E) another answer.
11. A pile of logs is in the shape of a trapezoid, with 100 logs on the bottom, 98 logs next to the bottom, 96 logs on the next level, and so on, with 42 logs on the top. Find the total number of logs in the pile?
12. A bridge hand consists of 13 cards dealt from an ordinary deck of 52 cards. How many hands are there consisting of the following? 

A) 6 spades, 3 hearts, 2 clubs and 2 diamonds

        13. Find the greatest and the least values of the following function
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 on segment [-2; 3].

14. A corporation has a board of directors consisting of 12 members. The board must select from its members a chairman, vice chairman, and a secretary. In how many ways can this be done?
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